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= 579,527 620,527 A 41,000
| 317,909 317,909 0
< 1,775,758 1,479,957 295,801
Al 7,963,344 7,622,508 340,836
HAoaggd ome x5 L FSI|E &= 9,272,306 8,617,229 655,077
= 567,627 603,627 A36,000
Il 317,909 317,909 0
< 1,652,887 1,361,086 291,801
Al 6,733,883 6,334,607 399,276
SHE 28 1,237,925 1,239,925 A 2,000
= 252,652 252,652 0
= 129,943 129,943 0
Al 855,330 857,330 A2,000
SN2 AN 283 344,320 345,320 21,000
301 2etE A3 3,000 4,000 21,000
09 HALAHIEA = 3,000 4,000 A 1,000
Osdt2 el & &It 24 3,000 4,000 A 1,000
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01 23 E S| 19,000 20,000 A 1,000
O=2ZEL Mz A& 19,000 20,000 A 1,000
sitE2 =5 3,359,150 3,209, 150 150,000
< 543,840 393,840 150,000
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Al 1,078,000 1,078,000 0
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2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz

=& =27 = 228,647 275,447 46,800

= 31,624 33,624 ~1,800

Al 196,823 241,823 45,000

SHD| 0I22S 24 A 11,900 3,600 A1,700

< 2,040 2,040 0

Al 9,860 1,560 A1,700

307 QI2+0| ™ 11,900 3,600 A1,700

= 2,040 2,040 0

Al 9,860 1,560 A1,700
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Al 9,860 1,560 A1,700

SEZ2% 2HZE N 0 6,000 A6,000
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Al 0 4,200 A4,200

307 QI2+0| 0 6,000 A6,000
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